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e Aratiois acomparison of two quantities of the same kind and of

same units by division .
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Ratio exists only between quantities of the same kind.

Illustration

There is no ratio between the weight of one child and the age of

another child.



e Quantities to be compared (by division) must be in the same

units.

Illustration

Ratio between 3 kg & 5 kg = 3/5



Illustration

(i) Ratio between 150 gm and 2 kg



(ii) Ratio between 25 minutes and 45 seconds



If a and b are two quantities of the same kind (in same units), then the
fraction a/b is called the ratio of a to b. It is written as a : b.

The quantities a and b are called the terms of the ratio.

ais called the first term or antecedent and b is called the second term or

consequent.

antecedent

consequent




Exercise 1(A)

[SI¥: The ratio of two quantities is 3 : 4. If the antecedent is 15, the
consequentis

(a)16
(b) 60
(c) 22
(d) 20



\I

% Both terms of a ratio can be multiplied or divided by the same
(non-zero) number.

¢ Usually a ratio is expressed in lowest terms (or simplest form)

Illustration

¢ 12:16 =1216=3[/4=3:4



\I

% The order of the terms in a ratio is important.

Illustration

3:4isnotsameas4:3.



\I

e To compare two ratios ,convert them into equivalent like fractions

o [MTET0E To find which ratiois greater _______ _ .

2= i 3= ;36:4.8

1
3 3



\I

e If a quantity increases or decreases in the ratio a:b then

new quantity = b/a of the original quantity.



LS {-11-1sB%[] Rounaq weighs 56.7 kg. If he reduces his weight in the ratio 7: 6,

find his new weight.



BC L Simplify the ratio1/3 : 1/8 : 1/6



[ veseramo 2

e Oneratiois the inverse of another if their productis 1.

e Thusa:bistheinverse of b: a and vice-versa.



Exercise 1(A)

[T The inverse ratio of 11: 15 is

(a) 15:1

(b) Ji1:415

(¢c) 121:225

(d) None of these



[OIE The ratio of the quantities is 5 : 7. If the consequent of its inverse
ratio is 5, the antecedent is

(a)5
(b) V5
(c)7

(d) none of these



\I

e The ratiocompounded of the two ratiosa:band c:dis ac: bd.

For example

compound ratioof3:4and 5:7is15:28.

Compoundratioof2:3,5:7and 4:9is 40:189.



[TTY The ratio compounded of 2:3,9:4,5:6 and 8:10 is
(a) 11
(b) 1:5
ER:]

(d) none of these



\I

e Aratiocompounded of itself is called its duplicate ratio.

a?:b?  is the duplicate ratio of a:b.

a’:b® is the triplicate ratio of a:b

duplicate ratio of 2:3 is 4:9.

Triplicate ratio of 2:3 is 8:27.



\I

Ja:Jb is the Sub-duplicate ratio of a:b.

}2.4b is the Sub - triplicate ratio of a:b

Sub - duplicate ratio of 4:9 is 2:3

Sub - triplicate ratio of 8:27 is 2:3



I3 The duplicate ratio of 3: 4 is
(a) vV3:2

(b)4:3

OERG

(d) none of these



I3 The sub-duplicate ratio of 25: 36 is
(a) 6:5

(b) 36:25

(c) 50:72

(d) 5:6



The triplicate ratio of 2: 3 is
(a) 8:27

(b) 6:9

(c) 3:2

(d) none of these



The sub-triplicate ratio of 8 : 27 is
(a) 27:8

(b) 24:81

(c) 2:3

(d) none of these



ST The ratio compounded of 4:9 and the duplicate ratio of 3: 4 is
(a) 1:4
(b)1:3
(c) 31

(d) none of these



[ The ratio compounded of 4 : 9, the duplicate ratio of 3 : 4, the
triplicateratioof2:3and 9:7is

(a)2:7
(b)7:2
(c)2:21

(d) none of these



{1 The ratio compounded of 4:5, 9:7, the triplicate ratio of 3:4, and
the triplicate ratio of 2:3 is

(a) 4:512
(b) 3:32
(c) 1112

(d) none of these



[WTXFl If a: b = 3: 4, the value of (2a+3b) : (3a+4b) is
(a) 54:25

(b) 8:25

(c)17:24

(d)18:25



[PW3E Two numbers are in the ratio 2 : 3. If 4 be subtracted from
each, they are in the ratio 3: 5. The numbers are

(a) (16, 24)
(b) (4, 6)
(c) (2.3)

(d) none of these



[CIYL] The angles of a triangle are in ratio 2: 7 : 11. The angles are
(a) (20°, 70°, 90°)
(b) (30°,70°, 80°)
(c) (18°, 63°,99°)

(d) none of these



I3[ Division of Z 324 between X and Yis in theratio11: 7. X & Y
would get Rupees

(a) (204, 120)
(b) (200, 124)
(c) (180,144)

(d) none of these



[} Anand earns 2 80 in 7 hours and Promode 2 90 in 12 hours. The
ratio of their earnings is

(a) 32: 21
(b) 23:12
(c)8:9

(d) none of these



The ratio of two numbers is 7 : 10 and their difference is 105.
The numbers are

(a) (200, 305)
(b) (185, 290)
(c) (245, 350)

(d) none of these



lex:y= 3: 4, the value of x%y + xy% x3 +yis
(a)13:12
(b) 12213
(c) 21:31

(d) none of these



M If p : q is the sub-duplicate ratio of p-x?: q-x? then x? is

P
P+q

C))
q
®) g
(c) _Pd
p+q
(d) none of these




[ST¥1 If 2s : 3t is the duplicate ratio of 2s-p : 3t-p then

(a) p? = 6st
(b) p=6st
(c) 2p = 3st

(d) none of these



X2 If p:q=2:3and x:y = 4:5, then the value of 5px + 3qy : 10px + 4qy
is

(a) 71:82
(b) 27:28
(c)17:28

(d) none of these



[CUT¥X] The number which when subtracted from each of the terms of the
ratio 19:31reducing itto1:4 is

(a)15
(b)5
(e)1

(d) none of these



\I

o If the ratio of two similar quantities can be expressed as a ratio of two
integers, the quantities are said to be commensurable.

e otherwise, they are said to be incommensurable.
EXAMPLE

e 3 :4J2cannotbe expressed as the ratio of two integers and therefore,

+'3 and +v2 are incommensurable quantities.



\I

e Continued Ratio is the relation (or comparison) between the magnitudes
of three or more quantities of the same kind.

e The continued ratio of three similar quantities a, b, cis writtenasa:b:c.
MRy The continued ratio of 2 200, Z 400 and Z 600 is

2200 : 2400: 2600 =1:2:3.



P, Q and R are three cities. The ratio of average temperature
between P and Qis 11:12 and that between P and Ris 9: 8. The ratio
between the average temperature of Qand R is

(a) 22:27
(b) 27:22
(c) 32:33

(d) none of these



LY. The ratio of the number of boys to the number of girls in a
school of 720 students is 3 : 5. If 18 new girls are admitted in the

school, find how many new boys may be admitted so that the ratio

of the number of boys to the number of girls may change to 2: 3.
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FChU LY The monthly incomes of two persons are in the ratio 4: 5 and

their monthly expenditures are in the ratio 7: 9. If each saves Z 50 per

month, find their monthly incomes.

(a) 2400,2500
(b) 2800, 21000
(c) 240, 250

(d) none of these



[FCLL LY. The ratio of the prices of two houses was 16 : 23. Two years
later when the price of the first has increased by 10% and that of the
second by Z 477, the ratio of the prices becomes 11: 20. Find the original

prices of the two houses.

(a) 2848,21219
(b) 2828, 21000
(c) 2848, 1229

(d) none of these



LUK Find in what ratio will the total wages of the workers
of a factory be increased or decreased if there be a reductionin
the number of workers in the ratio 15 : 11 and increment in their

wages in the ratio 22: 25



[SI¥ Y Daily earnings of two persons are in the ratio 4:5 and their
daily expenses are in the ratio 7:9. If each saves 2 50 per day, their
daily earnings in E are

(a) (40, 50)
(b) (50, 40)
(c) (400, 500)

(d) none of these



[S¥1] The ratio between the speeds of two trains is 7: 8. If the
second train runs 400 kms in 5 hours, the speed of the first train is

(a) 10 Km/hr
(b) 50 Km/hr
(c) 70 Km/hr

(d) none of these



X1 if p/q = —2/3, then the value of (2p + q) / (2p - q )is:
(a)1

(b) -1/7

(c)1/7

(d)7

Ans:c



U] What must be added to each term of the ratio 49 :68, so that it
becomes3:47?

(C)E;
(b)5
(c)8
(d)o

Ans:c



[WTE] The students of two classes are in the ratio 5 : 7, if 10 students left

from each class, the remaining students are in the ratio of 4 : 6 then the

number of students in each class is:
(a) 30,40
(b) 25,24
(c) 40,60

(d) 50,70

Ans:d



[IXAif A:B=2:5, then (10A + 3B) : (5A + 2B) is equal to:

(a)7:4
(b)7:3
(c)6:5

(d)7:9

Ans:a



[SIXA The ratio Compounded of 4:5 and sub-duplicate of “a”: 9is 8 : 15.
Then Value of "a” is:

(a) 2
(b)3
(c)a
(d) s

Ans:c



[SIXA The triplicate ratio of 4: 5 is:

(a)125:64
(b)16:25
(c)64:125

(d)120: 46

Ans:c



Find three numbers in the ratio 1: 2: 3, so that the sum of their
squares is equal to 504

(a) 6,12,18
(b) 3,6,9
(c)4,8,12

(d) 5,10,15

Ans:a



If the salary of P is 25% lower than that of Q and the salary of R is
20% higher than that of Q, the ratio of the salary of R and P will be:

(a)5:8
(ERS
(c)5:3

C)ER

Ans:b



[TTX:] A person has assets worth 21,48,200. He wish to divide it
amongst his wife, son and daughter in the ratio 3:2:1respectively.
From this assets, the share of his son will be:

(a) 224,700
(b) 249,400
(c) 274,100

(d) 37,050

Ans:b



I X, V, Z together starts a business. If X invests 3 times as much as
Y invests and Y invests two third of what Z invests, then the ratio of
capitalsof X, Y, Zis:

(a)3:9:2
(b)6:3:2
(c)3:6:2
(d)6:2:3

Ans:d



[CITY1! There are total 23 coins of 21, Z 2 and Z 5 in a bag. If their value is

243 and the ratio of coinsof Z21and 2 2is 3 : 2. Then the number of coins
ofZlis:

(a) 12
(b)5
(¢)10

(d)14

Ans:a



(MY ifa:b=2:3,b:c=4:5andc:d=6:7,thena:dis:
(a)24:35

(R L

(c)16:35

(d)7:15

Ans:c



WK The ratio of the number of 2 5 coins and Z 10 coins is 8 : 15. If the
value of 2 5 coins is 360, then the number of Z 10 coins will be:

(a) 72
(b) 120
(c)135

(d) 185

Ans:c



Que 14. zx—z is the duplicate ratio of 2/3 then find the value of x :
X+6
OF!

(b) 6
()5
(d) 9

Ans:b



(MY ifx:y:z=7:4:Mthen (x+y +2z)/zis:
(a) 2
(K
(c) 4
(d)5

Ans:a



[CITX[A The price of scooter and moped are in the ratio 7: 9. The price of

moped is 21,600 more than that of scooter. Then the price of moped is:
(a) 27,200

(b) 25,600

(c) 2800

C)ERLL)

Ans:a



The ratio of number of boys and the number of girls in a school
is found to be 15 : 32. How many boys and equal number of girls should
be added to bring the ratio to 2/3 ?

(a)19
(b) 20
(c) 23
C)P

Ans:a



In a certain business A and B received profit in a certain ratio B
and C received profits in the same ratio. If A gets 21600 and C gets 2
2500 then how much does B get?

(a) 22,000
(b) 22,500
(c) 21,000
(d) 21,500

Ans:a



[CUTIL) The salaries of A, B and C are in the ratio 2: 3 : 5. If increments of
15%, 10% and 20% are allowed respectively to their salary, then what
will be the new ratio of their salaries?

O EER[
(b)10:11:20
(c)23:33:60

(d) Cannot be determined

Ans:c



[ST¥ 1] A bag contains 105 coins containing some 50 paise, and 25
paise coins. The ratio of the number of these coins is 4 : 3. The total
value (in 2) in the bag is

(a) 43.25
(b) 41.25
(c) 39.25
(d) 35.25

Ans:b



CALCULATOR TRICKS
SIMPLE POWER

Base | X

— | 1l
—» | i
— | i

Power 2 3 4 5 6



CALCULATOR TRICKS
SIMPLE POWER

34

64



PROPORTION

An equality of two ratios is called a proportion.

Four quantities q, b, ¢, d are said to be in proportion
if, d:b=c:d (alsowrittenasda:b::c:d )i.e.

ifa/b= c/d

If ad=bc. (CROSSPRODUCT RULE)



‘l PROPORTION

e The quantities q, b, ¢, d are called terms of the proportion;
e a,b,candd are called its first, second, third and fourth terms
respectively.

e They arealso called “ first proportional “, “ second proportional “,
“ third proportional “, and “ fourth proportional “ respectively .

e Firstand fourth terms are called extremes (or extreme terms).

e Second and third terms are called means (or middle terms).



PROPORTION

s f ], B

CROSS PRODUCT RULE ‘ I,Mea,,s J

Ifa:b=c:darein proportion then

Product of extremes = Product of means
axd = b xc

a/b=c/d

]

ad =bc

i.e. product of extremes = product of means.



‘l PROPORTION

e Inaratioa:b, both quantities must be of the same kind while in a

proportion a:b = c:d, all the four quantities need not be of the same

type.
e The first two quantities should be of the same kind and last two

quantities should be of the same kind.

M 3L 2 6 : 2 8 =12 toffees : 16 toffees are in a proportion.

Here 1st two quantities are of same kind and last two are of same kind



‘l PROPORTION

NNy Find the value of x if 10/3: x:: 5/2: 5/4.



PROPORTION

FCOT ALK Find the fourth proportional to 2/3, 3/7, 4.



[N The fourth proportional to 4, 6, 8 is
(a) 12

(b) 32

(c) a8

(d) None of these



TN The number which has the same ratio to 26 that 6 has to 13
is

(o) M
(b)10

(c) 21

(d) None of these



m The fourth proportional to 2q, a? cis
(a) ac/2

(b) ac

(c) 2/ac

(d) None of these



X If four numbers 1/2,1/3,1/5, 1/x are proportional then x is
(a) 6/5
(b) 5/6
(c)15/2

(d) None of these



CONTINUOUS PROPORTION

e Three quantities a, b, ¢ of the same kind (in same units) are

said to be in continuous proportion if

a:b=b:c
i.e. a/lb=b/c here,
a = first proportional
b?=ac

c = third proportional

.b=.ac. b = mean proportional



CONTINUOUS PROPORTION

LN O] Find the third proportion to 2.4 kg, 9.6 kg.



CONTINUOUS PROPORTION

IS Find the mean proportion between 1.25 and 1.8



CONTINUED PROPORTION

When three or more numbers are related such that
a/b=b/c =c/d =dfe.............the numbers g, b,c,d,and e

are said to be in continued proportion.



[T The third proportional to 12,18 is
(a) 24

(b) 27

(c) 36

(d) None of these



S The mean proportional between 25, 81is
(a) 40
(b) 50
(c) 45

(d) None of these



The mean proportional between 12x% and 27y2 is
(a) 18xy

((K:108%

(c) 8xy

(d) None of these



[SIWE 12, 16, *, 20 are in proportion. Then * is
(a) 25
(b)14
(c)15

(d) None of these



[N 4, *, 9,13 12are in proportion. Then * is
(a)6
(b)8
(c)9

(d) None of these



[N If p/q =r[s = 2.5/1.5, the value of ps : gr is
CEIL
(b)1:1
(c) 5/3

(d) None of these



X IfA=B/2=C[5,thenA:B:Cis
(a)3:5:2
(b)2:5:3
(c)1:2:5

(d) None of these



X Ifa/3=bf/4a=c[7,thena+b+c/cis
(a)1
(b)3
(c)2

(d) None of these



TR If x:y=2z:w=2.5:15, the value of (x + z)/(y + w) is
(a)1

(b) 3/5

(c) 5/3

(d) None of these



TREIfA:B=3:2andB:C=3:5,thenA:B:Cis

C)ERCR )
(b)6:9:10
(c)10:9:6

(d) None of these



[CITRL If x/2 = y/3 = z[7, then the value of (2x - 5y + 4z)[2y is
(a) 6/23

(b) 23/6

(c) 3/2

(d)17/6



(MW I1fx:y=2:3,y:2=4:3thenx:y:zis
(a)2:3:4
(b)4:3:2
(c)3:2:4

(d)8:12:9



SN[ Division of 2 750 into 3 partsintheratio 4:5: 6 is
(a) (200, 250, 300)
(b) (250, 250, 250)
(¢) (350, 250, 150)

(d) None of these



The numbers 14, 16, 35, 42 are not in proportion. The fourth term
for which they will be in proportion is

(a) 45
(b) 40
(c) 32

(d) None of these



[CI¥ 1] The mean proportional between 1.4 gms and 5.6 gms is

(a) 28 gms
(b) 2.8 gms
(c)3.2gms

(d) None of these



TG 2_P_Cthen 2tP+C s

4 5 9 C
(a) 4

(b) 2
(¢)7

(d) None of these



Two numbers are in the ratio 3 : 4; if 6 be added to each number of the
ratio, then the new ratio will be 4 : 5, then the numbers are

(a)14, 20
((RIAL]
(c) 18 and 24

(d) None of these



Que. 290 a;b=4;1then\/§+ﬁ15
a

(a) 5/2
(b) 4

(c)5

(d) None of these



‘l PROPERTIES OF PROPORTION

1. fa:b=c:d,thenb:a=d:c INVERTENDO

& d

i -
dac

£
b



‘l PROPERTIES OF PROPORTION

2. fa:b=c:d,thena:c=b:d OR d:b=c:a
ALTERNENDO

a c a b
fe=— = —=— or —=—
® d ¢ d



‘l PROPERTIES OF PROPORTION

3.fa:b=c:d,thena+b:b=c+d:d COMPONENDO

a+b_c+d
> d

f 2=5=
> d



‘l PROPERTIES OF PROPORTION

4.ff a:b=c:d,thena-b:b=c-d:d

a—b c—d

c
e
d b d

2
b

DIVIDENDO



\I COMPONENDO AND DIVIDENDO

5 a:b=c:d,thena+b :a-b=c+d:c-d

a+d c+d
) —

c
If i .
d a-b c¢-d

a
b



PROPERTIES OF PROPORTION ADDENDO

6.Ifa:b=c:d=e:f=............, then each of these ratios is equal

(a+c+e+...):(b+d+f+....)

If 3=£=%=............1 then each of theseratiosisequalto &2 +c +e_.__
b 4 b+d+ f____
i.e,
a+c+e_____ (. a+c+e..__. ¢ a+c +e..__.
b+d + f_____ d b+d + f_____ y b+d + f_____



PROPERTIES OF PROPORTION

SUBTRAHENDO

7.fa:b=c:d=e:f=........., then each of these ratios is equal

(a-c-e+...):(b-d-f-....)

If 3=E=%=............1 then each of theseratiosisequalto =2 " c " e_.__.
b d b.d .- f____
i.e,
a “"c T e_.___ C ] allciBle- - el aliclle_.___
b-d = f___. i b .aA=-f___ y I b =a o foo
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BC G Ifa:b=c:d=2.5:15, what are the values of ad : bc and

a+c:b+d?
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b ¢ a+b+c
Example 208 i 17 then prove that .

2
3



[CITREL If x/y = z/w, implies y/x = w/z, then the process is
called

(a) Dividendo
(b) componendo
(c) Alternendo

(d) None of these



[N L If p/g =r[s =p —r[q - s, the process is called

(a) Subtrahendo
(b) Addendo
(¢) Invertendo

(d) None of these



U1 If a/b = c/d, implies (a + b)/(a — b) = (¢ + d)/(c - d), the process is
called

(a) componendo
(b) Dividendo
(c) componendo and Dividendo

(d) None of these



CUTNFif u/v =w/p, then (u-v)/(u +v) = (w - p)/(w + p). The process is
called

(a) Invertendo
(b) Alternendo
(c) Addendo

(d) None of these



CUTREIf 2 _ P then
45

4 b-5
(q) a+ _
a-4 b+5

a+4 b+5
b -
(b) a-4 b-5

-4 b+5
(c) 2= -
a+4 b-5

(d) None of these



The sum of the ages of 3 persons is 150 years. 10 years ago their ages
were in the ratio 7: 8 : 9. Their present ages are

(a) (45, 50, 55)
(b) (40, 60, 50)
(¢) (35, 45, 70)

(d) None of these



[CUTRE If (5x - 3y)/(5y — 3x) = 3/4, the value of x : y is
(a)2:9
(b)7:2
(c)7:9

(d) None of these



GO —~ - Y %  then(b-c)x+(c- a)y + (a-b)zis
b+c—-a c+a-b a+b-c
(a)1

(b)o
(c)5

(d) None of these




FCLUALEE] A dealer mixes tea costing Z 6.92 per kg. with tea costing Z 7.77
per kg and sells the mixture at Z 8.80 per kg and earns a profit of 171/2 % on

his sale price. In what proportion does he 2 mix them?



A dealer mixes rice costing Z 13.84 per . with rice costing 2
15.54 and sells the mixture at Z 17.60 per kg . So, he earns a
profit of 14.6 % on his sale price. The proportion in which he
mixes the two qualities of rice is:

(a)3:7
(b) 5:7
(c)7:9 Ans:a

C)ERL



Fourth proportional to x, 2x, (x +1) is:

(a) (x+2)
(b) (x-2)
(c) (2x+2)
(d) (2x-2) Ans:c



Which of the numbers are not in proportion?

(a) 6,8,5,7
(b) 7,.3,14.,6
(¢) 18,27,12,18

(d) 8,6,12,9 Ans:a



The ratio of third proportion of 12,30 to the mean proportion of 9, 25

is:

(a) 2:1
(b) 5:1
(¢) 7:15
(d) 3:5 Ans:b



What number must be added to each of the numbers 10,18, 22 , 38
to make the numbers in proportion?

(a) 2
(b) 4
(c)8

(d) None of these. s



A vessel contained a solution of acid and water in which water was 64 % . Four
litres of the solution were taken out of the vessel and the same quantity of water
was added. If the resulting solution contains 30 % acid, the quantity (in litres) of
the solution, in the beginning in the vessel, was

(a) 12
OEE

(c) 24
(d) 2 Ans:c



A sum of money is to be distributed among A, B, C, D in the proportionof5:2:4: 3. If
C gets 21,000 more than D, what is B 's share?

(a) 22,000
(b) 21,500
(c) 22,500

(d) 21,000 Ans:a



The word “Indices” is the plural of “ index.

When a number is expressed in the form

of O"

ais called the base,

and n is called the index [ exponent [

power

Index (Indices)

Power

/ Exponent
Base ——> 2

ZX LR LA 2



0—
e A"=aAXAXUuun..... to n factors. a’=1

Example: 3° =1

o Example: 39 =3x3x3x3

« Example: 27° =1[25

.« Example: 1/27°> =25




[ awormoiss 2

i

For example :

34x3°>=3°



[ awormoiss 2

AW 2 am™ / Q" = am-n‘

For example

27[2% =28



[ awormoiss 2

1AW 3 (am)n = qmn

For example

( 24)3 = 912



For Example

(2x3)3 = 23x 33

For Example

@m ] Z_: (5 /3)* = 54[3*



[ awormoiss 2

LAW 5 am/n - (am)lln ’qmln =n/gm = (n‘/q)m

For Example
Vg =9

5\/92 = 92/5



[ eoaanc

o Ifa*=aY,thenx=y
o Ifx?=y%, thenx=y
e If a™=k,thena=k"/m

GROA



Page1.16

B simplify 2 x'/2 3x™ ifx=4



Page1.16

oy simplify 6ab?c® x 4b~2c~3d



Page1.17

Example 3l ELEC L]

-1

X -1/3




Page1.18
7

S—— 1 2 £
BEITILE  simplify 5.2 5,62 3 |
——— — ifa=4

9a3 xa?



Page1.19

BT simplify (x %.y™)3. (x%y?)™



Page1.19

Example 6 {’/a‘“’ x* (@ x)°



Page1.19

BTN, Find X , x/x = (xv/x)*



Page 1.20

Find the value of k from (v 9)~7 x (+/3) ™5 =3k



Exercise 1(C)

P 4x/4is expressed as
(a) -4x'/4

(b) x™!

(c) a/x'4

(d) None of these



Exercise 1(C)

P! The value of 8"/3s
(a) 32

(b) 4

(c) 2

(d) None of these



Exercise 1(C)

K The value of 2 (32)"/5is

C)F:
(b) 10

(c) 4

(d) None of these




Exercise 1(C)

P The value of 4/(32) /% is
C)K:]
(b) 2
(c) 4

(d) None of these



Exercise 1(C)

P The value of (8/27)/3is
(a) 2/3
(b) 3/2
(c) 2/9

(d) None of these



Exercise 1(C)

P The value of 2(256) V8 is
(a)1

(b) 2

(c)1/2

(d) None of these




Exercise 1(C)

2172 43/4is equal to

(a) afraction
(b) a positive integer
(c) a negative integer

(d) None of these



Exercise 1(C)

1

81x* |* s

Que. 8 — has simplified value equal to
y

(a) xy?
(b) X%y

(c) 9xy?
(d) None of these



Exercise 1(C)

I 9P x xP~€ x x°~%js equal to
(a) x
(b)1
(c)o

(d) None of these



Exercise 1(C)

2 3¢
Que. 100 EACIIER (—25 9 ) where p, q, x, y # 0 is equal to
Xy

(a) x
(b)1
(¢)o

(d) None of these



Exercise 1(C)

IR {(3)2 x (42)3 x (5%)%} [ {(32)® x (4%)2 x (5?3} is

(a) 3/4
(b) 4/5
(c) 4/7
(d)1



Exercise 1(C)

Que. 128N Y ER IR

(a) 2°> (1/2)°
(b) 2°< (1/2)°

(c)2°=(1/2)°

(d) None of these



Exercise 1(C)

Que. 13[; x'/P = y'l‘:I =2/ and xyz =1, thenthe valueof p + q +ris
(a)1

(b) o

(c)1/2

(d) None of these



Exercise 1(C)

IR The value of y@ P x yP~C x y©~9 x y~9bjg

(a) y**®
(b)y
(e)1

(d) 1/y*®



Exercise 1(C)

YN The True option is

(a) X =2v/x?
(b) x2[3 = /%3
(c) x2/3>3/x2

(d) x2/3 <3/x2



Exercise 1(C)

m The simplified value of 16x~3y? x 8 x3y ~2is

(a) 2xy
(b) xy/2
(c) 2

(d) none of these



Exercise 1(C)

The value of (8/27) V3 x (32/243) /5 s

(a) 9/4
(b) 4/9
(c) 2/3

(d) none of these



Exercise 1(C)

The value of {(x+ P2 x (x—y)” }6 is
(a) (x+y)2 ‘\/x+yx'\/(x_.)’)3

(b) (x-y)

(c)x+y

(d) None of these



Exercise 1(C)

PRT simplified value of (125)2/3 x v/25 x 3/53 x 5Y/2s

(a)5
(b)1/5
(e)1

(d) None of these



Exercise 1(C)

T [((2)"2. (a)%/4. (8)515 . (16)7/8 . (32)2/10} 413025

(a) A fraction
(b) aninteger
(c)1

(d) None of these



Exercise 1(C)

PYY [1-{1-(1-x2) "} 1" 2is equal to
OF

(b) 1/x

(e)1

(d) None of these



Exercise 1(C)

Que. 22 [(xn)n-i}“ is equal to

1

(a) x"
O S
(c) xn—l

(d) None of these



Exercise 1(C)

WX if a3~ b3 = (a-b) (a? + ab + b?), then the simplified form of

Xl 12 4imem? e | 2 X" | 12+ men2
m = n & _I-
X X X

(a)0
(b)1
(c) x

(d) None of these



Exercise 1(C)

m Using (a-b)® = a3-b3-3ab(a-b) tick the correct of these when x = p'/ S_ p"l 3
(a)x3+3x=p+1/p

(b)x®+3x=p-1/p

(c)x3+3x=p+1

(d) None of these



Exercise 1(C)

L on simplification, 1/(1+a™ "+ a™ P) +1/(1+a™ ™+ a" P) +1/(1+ aP ™™ +
aP™) is equal to

(a)0
(b)a
(e)1
(d) 1/a



Exercise 1(C)

Que. 26 HERCIIEY:
(a)1
(b) 0
OF

(d) None of these



Exercise 1(C)

if x = 33 + 373, then 3x3 -9xis

(a)15
(b)10
(c)12

(d) None of these



Exercise 1(C)

If a® = b, bY = ¢, ¢* = a, then xyzis

(a)1
(b) 2
(¢)3

(d) None of these



Exercise 1(C)

a \(@*+ab+b?) b \®Z+be+c?) ¢ \(Feata?)
[IT¥ L The value of | X o X =
x® X Xx*

(a)1

(b) 0

(c) -1

(d) None of these



Exercise 1(C)

Que. 30
(a)1

| IE ]
1f2X=3Y=67% —+—+—is
X y z

(b)o

(c) 2

(d) None of these



[T Find the value of a from the following:
B) x (V3)7 = (V3)”
o OO () - (A
(b)13
(c)15
(d)17

Ans:d



3a 2xX—4 2b 2xX—4
If (— =|{—
, (zb) (33) 'for some a and b, then the value

of xis
(a) 8
(b) 6
(c) 4

(d) 2
Ans:d



The value of (1 —30.027 (g) (%)2) is:

(a) 1116
(b)13/16
(c)15/16
(d)1

Ans:c



By simplifying (2 a® b%)®/ (4a® b)? x (a? b?), the answer will
be:

(a) 4a?b?®
(b) 4a°® b?
(c) 4a™ b'°

(d) 40’ b?°

Ans:d



3 3 3 a+b+c)2 . .
If ¥a + Vb + ¥c = 0 then the value of ( : ) is equal to:

(a) abe
(b) 9abe
(c) 1/abe
(d) 1/9abc

Ans:a



Value of [9“*‘%. V3.3h o

3+/371
C)E]
(b) 27
(c) 81
(d)3

Ans:b



If 2¥* = 3¥* = 122° then

1 2 1
O ete=n
- R )

(d) None of the above ARNs: ¢



If x= 3" 3: 3"’ 3 then find the value of 3x3 -9x

(a) 3
(b) 9

(c)12

(d)10 Ans:d



[ wooammm

CONDITIONS
If aX=
e N>0
then
o a>0
) & Iogan e azl

logarithm of n to the base a is x



[ wooammm

2% =16 4 =log,16
10°=1000 3=log,,1000
5-3=1/125

-3=log . (1/125)

2°=8
3=log,8



LI 10g,8 is equal to
(a) 2
(b)8
(c)3

(d) None of these



[N The value of log 0.0001 to the base 0.1is
(a) -4

(b) 4

(c)1/a

(d) None of these



log /, 64 is equalto
(a)12

(b) 6

(e)1

(d) None of these



log, /51728 is equal to
(a) 2v/3

(b) 2

(c)6

(d) None of these



[IX: log (1/81) to the base 9 is equal to
(a) 2

(b)172

(c) -2

(d) None of these



TN log 0.0625 to the base 2 is equal to
(a) 4

(b) 5

(e)1

(d) None of these



FIE The value of log Vs to the base 9 is
(a)-172
(b)172

(e)1

(d) None of these



u PROPERTIES OF LOGARITHM

. log 1=0

« log a=1



u PROPERTIES OF LOGARITHM

log.m * log _n=log _(mn)



[N log 6 + log 5 is expressed as
(a)logm

(b) log 30

(c)log5/6

(d) None of these



[N log (1x 2 x 3) is equal to
(a)log1+log2+log3

(b) log 3

(c)log 2

(d) None of these



TR Given log2 = 0.3010 and log3 = 0.4771 the value of log 6 is

(a) 0.9030
(b) 0.9542
(c) 0.7781

(d) None of these



[N If log x + log y = log (x+Yy), y can be expressed as
(a) x-1

(b) x

(c) x/(x-1)

(d) None of these



Given that log, ,2 = x and log,,3 =y, the value of log, ,60

is expressed as
(a) x-y+1
(b) x+y+1
(c)x-y-1

(d) None of these



u PROPERTIES OF LOGARITHM

m
log.m=-log _n= loga;



[T log (32/4) is equal to
(a) log 32/l0g 4
(b) log 32 - log 4

(c) 2°

(d) None of these



Given thatlog,,2 =X, log,,3 =y, then log, /1.2 is expressed in

terms of xandy as

(a) x+2y -1
(b)x+y-1
(c)2x+y-1

(d) None of these



u PROPERTIES OF LOGARITHM

logam“ =n logam

Example : log,,100°



X3 If 21og x = 4 log 3, the X is equal to
(a) 3
(b)9
(c) 2

(d) None of these



m The value of log, log, log,, 16
(a)o

(b) 2

(c)1

(d) None of these



RIRE The value of log, [log, {log, (log,27°)}] is equal to
(a)1
(P
(c)o

(d) None of these



[SIREL Given thatlog x = m + n and log y = m - n, the value of
log (10x/y?) is expressed in terms of m and n as
(a)1-m+3n

(b)m-1+3n

(c)m+3n+1

(d) None of these



m The simplified value of 2log, ;5 +log,,8 —1/2log, 4 is
(a)1/2
O

(c) 2

(d) None of these



